1.2 Calculators and Trig Functions

Notes

1 degree is equal to 1/360 of a full rotation.

1 minute is equal to 1/60 of a degree. So there are 60 minutes in 1 degree.
1 second is equal to 1/60 of a minute. So there are 60 seconds in 1 minute.
23° 14" is read as 23 degrees and 14 minutes

Add or Subtract as indicated. ,
@3°14) + (12°42) =25 ° 56

(68°44) - (18°32) = 50 1B

Convert each of the following to degrees and minutes. Round to the nearest minute.
34.5° 54.45° 12.8°

39" 30 54°27 12°4¢"

Change each of the following to decimal degrees. If rounding is necessary, round to the nearest hundredth of a

degree.
32019 65°27 21°40
o= G
32,3l ¢545° 2 Es

Use a calculator to find each of the following. Round all answers to four places past the decimal point.

sin43.1° » 0.0% 33
cos 28.7° & q-]’? !
tan63.1° = . 97|]

csc 23.4° 4 Q\SI%D

cot 86.2°
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csc 13.6°
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